Time: 3Hours

o

N.B.:
Q.1
A)
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(1) All questions are compulso , e
(2) Figures to the right indicate full marks,
(3) Use of log table/ non-programm

C)

A)j:'

mcchamsm of the reactlon

Attempt ANY EOUR of th ollowmg

Attempt ANY FOUR of the following:
Write short notes on the following:

1) Cheletroplc reactl,ons
ii Electrophtht

Comnplete the followmg reaction“and naffie the product.

dry HCl gas'
————e

CH;CO0H +: CZHSOH
Explain the followmg terms: - x
1} ligand 1) Bae2 4F  if) pencycllc reaction
v synarteth accelexatmn 2 .

i).‘j
ity Smglet and Trlplet stat
What is photosensitisation? Explam the’ photochemxcal reduetion of

benzophenone

a) State whether followmg comeunds are. eptlcaily active or optically
1nact1ve Justify your asiswer.

= .
\_¢ \ /
i) i)

b) Define centre of symmetry with an example.
Wiite a note on stereochgmistry of allenes.
a) Give synthesis of indole-3-acetic acid.

b) Give preparation of pyridine-N-oxide from pyridine.
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D) Complete the following reactignsj
a) i
i SR S CHYCOOOH .=
i e 2
& [ :[ \:\l s Pt g
——e ¥ ?
5 CH,OH iy
A N ST
2 P SR Bry, pc‘;ﬂ;vc‘:l-lzsoq G
i ———-—=——-— : o
r W / soC

™\ W '

X, Flumiag HNOQscone. HSO4
—— e
o°C
=N e

e)
ee
l -
e =N :
E) 5What are Agrochemwals" lee advantages of usmgﬁagrochemmals Write the
" synthesis of Endosufan. '
F) Give the Bischler-Napieralski syn jesis for the preparag on of Isoqumolme
Fi Wnte the rea,ctlon of 1soqumohne with alkalme KMnO4
Q.3 “Attempt ANY FOUR of the fo“ﬂowmg i
A) Give the IUPAC names of the followmg : EX 5
] 4 CHzw Cl
A \ '_' i
1) 2) §eT S
Cl C,H;

FOOH COOH

5 O
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B)

C) a)
b)
D) )
b)
E})

F) a)

Z ¥

e ‘ [Given Atomic Weféhts: C=J,1::2';'H=1, O—i-‘ii‘G]
;5)

b)

B) a) .
b}~

o)

- Attempt ANY FOUR of thel
1) Explain the follpgvihg term

Write the structural formula fq_r.;e‘ach of thé'i'f.ollow'

| -chloro-6-methoxyspiro [3.4] octane
Bicyclo [3.3.0] octan-3 carboxylic aeid
2,2’-difluore-6,6’ -dinitr diphenyl -
2-methoxy quinoling; L
Penta-2 3-diene-1-0ic acid

R e o

Explain convergent synthesis with a suitable reagtion?
Define chemnoselectivity with a suitable example?

Explain multicomponent synthesis-with a suitable exax;fﬁﬂé?

What is E-factor? Give its significance?
Give the synthesis of the following from a suitab

) l-phenyi{-ét'hanol__ ing a sui
2) n-pentane usinga suitable Organolithium com

0{: the

Define atom cconomy? Calculate the percentage atom economy
following reaction?

—cooH it

Give any two applications of biocatalystin green chemistry?

d in spectroscopy ‘ﬁith suitable example

) C_kg:omophor.é? ii) Augochrome -
Give the shifts in absotption bands in UV- visible speetroscopy.
Explain thie fragmentation of the 2- Methyl pentane
Define Base peak and Isotopi¢ peak § ;

Whatare terpenoids? Give products of ozonolysisof the following terpenoid?

b)
D)

b)

36226

State Special isopren‘_dmle with:suitable example.

7 Give the reaction for Hofmag;ii ‘exhaustive methylation and degradation of

@

N
H

What are harmful effects of nicotine?
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a) Give the synthesis of citral from 6- methyl hept-S er,t—2 -one. |
b) Give analytical evidence that nicotine has pyrldme rmg w1th a 51de¢
containing > N-CH3 group,’
a) Give Ott’s synthesis of adrenalme?
b) Give any one analyncal ev1dence to prove that citral i5 an o,
aldehyde? :
Select the correct optlon ar
FIVE)
a) Base catalysed hyclrolysas of esters is called
1) Esterification iy iif) Cope E, I
i1} Chugaev reacmon : iv) Sapoglﬁcation
b) £
ii absolute thermodynamlc -
c).s Transition state is a.......... charactensed by part1al bonds.
i) low energy, definite molecular spemes
i) low energy, indefinite molecular species 7
iii) high energy, deﬁnitez'moleculgrgépecies S & & ~—
.iv) high energy, indefihite mole wular species ' ; i
d) NGP assisted nucleophilic ssubstitution TBaCth IS show A...in rate of
© reaction with ......0... of co qﬁn iguration. 3 3
i) decrease; retention iif) decrease; inv‘ersion
u) increase; retenuon o iv) l‘ncrease,;-;.; inversion
YT AT, 4 is a 4+2 ncycloaddltlon reaction. Fs
L) Cope reactxon . iii) Diel’s Alder :
v) Sapomﬁcatl.on
f)
1) photoreductlon o “;1: 111) photo1somerlsanon
) *ii) photorearrangenient i iv) photosensitisation
Y .42 “is an allowed electromc transition. :
1) Si=» T, iii) Ti=> S
i) S1— Ty 28-S,
h) :-iPhotochenucal cleavdge of carbonyl compounds to form alkane and carbon -
" monoxide are called .reactions..
" i) di-w-methane 5 * i) Norrish Type I
ii) eletrocyclic * " iv) Norrish Type I1
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Q.5 B) State whether the followiiig statem'ents are TRUE or FA LSE: (ANY
FIVE) o

a) Trans-1,3- Dimethyl cyclobutane is chlral

b) Cumulenes having odd numbe double bonds shows geometrical

isomerism.

¢) Alternating axis of symmetry is also known as rotatlon refle

d) Electrophili¢ substitution reactlons on 1soqum01me tak@s place pzs
position 3 and 8. :

e) Isoquinoline is also known as 2-azanaphthalene
Gibberelins belong to the class of Plant’ Growth Regulator:

g) Endosulfan is aplant growth regulatmg hormone. -

Q5 O Flll in the blanks wnth correct alternatwes glven i
- 'FIVE) | ‘ :
[qumohne chemoselective, L1A1H4, dlmethylsulphate Jlarger,
smaller, isoguinoline, rengwable, dimethylcarbonate, super‘ itical CQ;,
regloselectwe, tert.butyl hydroperoxxde] S b
a) Addition of halogen acid to an unsymmetnc@,l alkene) 1ys,an example of -

reaction. i
b) “Methane is an example of -- rawsmaterial -1
O causes selective meth,ylatlon of active methylene co;
d) Oxidation of aldehydes can be carried out with-benign reagents likg, =e--mmmmmmes
¢) Dry cleaning of the clothes can be done using ------- mstead of Larbon
_tetrachloride. - : :

) “benzo[c]pyridine is- also callgd--------- = ;
g) Forthe nomenclature of spirans the --- ring 18 given preference
~h) Toname the fused and the'bridged ring systems the num_brarm0 starts from

one of the --------- carbon atoms.
Q5 D) Match the columns (ANY FIVE) @ 5
; B Column A ; - Column B
: "a) Citral-b . ()  Odd mass number
b)  >N-CHj i (ii) . Nicotine
¢) Epinephrine i (iliy = Hypochromic shift
d) - Pinner W (i)  Geranial
) Odd number of nitrogen atom (v)  Laevorotatory
) Pp- carotene : (vi) Neral
g) Citral-a © (vi)  Amax=4520m
: j #°  (viii) Protein hormone
(ix) Herzig Meyer method
-‘k-k FkRRARIIR
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